FIANAHX —RXAA I LT T AT 47312021
WA :20214£9H26H (H)

= w7 77 ) —7 (25m)

1/1
No. 27 ZF 25mEikE [
<i 15~T798 > ) a5G 2190
B K4 B TR ER R K& B fE #TEcEk
1 N =1 V S A¥H7 1/ 4 20.77 - K&HE
2 #hH I E 1 V S AN 1/ 3 25.77
No.27 &F 25m&EikE [ S
<i 10~T74m > ) T 20.78
B K4 [PigE iy o KR B M FEcEk
1 SfFH  #7 V S A 2/ 3 20. 88
2 I FEx+ 3 ANE R 2/ 2 24.95
3 K BT =3 AT S 2/ 7 25.70
4 fER 5LF Jb o Erh 2/ 1 27. 49
No.27 %&F 25m&ik& Erie
< 65~69i% > ) KR 10.48
B K4 TR R K& BF B #rEcEx
1 ER®HHSOH iy NS = 3 2/ 4 18.81 - K&#
2 YHTET aF I PEE 2/ 5 20.16
No.27 ZF 25mEikE [ -
<i 60~64% > ) T 17.88
JE 4L ES% FE =T K& B #EcEk
1 EZI: HH = ANHEOS 3/ 4 20. 52
2 sk FT = 3)I7E 3/ 1 26. 81
No.27 % F 26miik¥ S
< 55~59i% > ) X&EHE 1780
B K4 B FrERR R JK & BF Rl #FECE%
1 TN &+ T ANIBDE 3/ 6 21. 81
No.27 &F 25m&EikE 7= S
<i 50~54m > ) T 16. 82
[[=Fiva EE% FrEER R K& B M FEcEk
1 {Eﬂ%ﬁfﬁ% aFIJETFH 3/ 5 21.07
2 ﬁEH Tk O ARBDE 3/ 3 22.15
3 K ASIT JU o (FFF 3/ 2 25.17
No.27 %&F 25m¥ikE REE Ly
<i A0~445% > ) Xafg 1517
[[=Fiva FE% Fﬁ%ﬁ%ﬁ\ K& B M FEcEk
1 fEH &y MR AT 3/ 1 26. 59
HAHKE: 9H26H 14:14



